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1. TEXEM

FEXKBEREMAEAL S XEE BN, 230K
HEEEAMEN, BWEAEKRKELERINTERE-RXENPLEML,E
FLEETREREEYN, BTREEANBRES, HaB AP &H ‘man
idea, subject, purpose” %1, AR B UTF 3 f . OXERBEAE; O
XEHE;QXEBK, HERTRMT:

1) What is the main idea of the passage?

2) What does this passage mainly discuss?

3) What is the main topic{point) of the passage?

4) Which of the following best summarizes the passage?

5) Which of the follow{ng best describes the passage as a whole?

6} What would be the most appropriate title for this passage?

7) What does this passage mainly(primarily) concerned?

8) The passage mainly deals with

9) The passage is chiefly concerned with ___ _
10) The main idea of the passage is

11) The author’s purpose in writing this passage is

12) The passage mainly deals with ____

13) The title that best expresses the theme of the passageis
14) The main theme of this passage is -

15) The main idea of this selection may be best expressed as
16) The key point (The main idea of the passage, The best summary) is




A A q et

AEEEREESTRIERNES KR FEEFRREBEANEE
Fok BA—-MBJVEERERRETIE, ERITEGN , FEZNEE
XEHREEHE R Fln:

The actual amount of water in the plant at one time, however, is only a

very small part of what passes through it during its development. The processes
of photosynthesis, by which carbon dioxide and water are combined —in the
presence of chlorophyll{ %% ) and with energy derived from light —to form
sugars, require that carbon dioxide from the air enter the plant. This occurs
mainly in the leaves. The leaf surface is not solid but contains great numbers of
minute openings, through which the carbon dioxide enters. The same structure
that permits the one gas to enter the leaf, however, permits another gas—wa-
ter vapor —to be lost from it. Since carbon dioxide is present in the air only in
trace quantities (3 to 4 parts in 10 000 parts of air) and water vapor is near sat-
uration in the air spaces within the leaf (at 80 °F, saturated air would contain
about 186 parts of water vapor in 10 000 parts of air), the total amount of wa-
ter vapor lost is many times the carbon dioxide intake. Actually, because of
wind and other factors, the loss of water in proportion to carbon dioxide intake
any be even greater than the relative concentrations of the two gases. Also, not
all of the carbon dioxide that enters the leafs synthesized into carbonhydrate (B
KEEH).

BEE—Tr R T /8 “The actual amount of water in the plant at
one time, however, is only a very small part of what passes through it duﬁﬁg its
development” , # TR B4 FAB R b TGRS & B iXx— /4]

B2 XENFEEEEEXENE -REH, H—BRREOMECK
.
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EXER AEHE B RTEIT L B ARG R 158 A% B IE B 54 4 3
FHFERE, EEES L ERB T XEFHREMEM L, EEECERT]
H &% R who, what, when, where, how Hl why Z B AN . A ED
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1) What causes. . .7

2) Why does the author mention. . . ?

3) How many. . .7

4) Where in the passage does the author describe. .. ?

5)eWhat time does the writer think is...?

6) The author mentions that

7) The writer states

8) Which of the following is NOT true according to the information in the pas-

sage?

9) Which of the following is mentioned in the passage?

10) What is the example of . . . as described in the passage?

11) The author mentions all of the following except. ..

12) The reason for . . .is. ..

13) The author states that. . .

14) According to the passage, when (where, why, how, who, etc.)...
ZRERHM SRR AT NEREEX LA SFTEXPE—F

SHIRE, ARRBTARMZET R, A8 B KBOE R XGA R X

WA, AR R ER, T RaXESHEESE, T

FRASXEFHFLIMABAMR, B4 5 XEMRELZL WAL

AR EATEXETRERA Y K. 7F BE 2w BE R AL (scan-

ning} , % {H [ RE T [0) , 48 1 6] R AY G 5] , B AR RIA R AR o5 B R 5 Y s

L R EIETE A SR A SRR R KRR S P AR, U REE

B e BB F IS , BUn AR X 20 ) F e i IE B 2 9% .

3. @@
ACI AR IR B I, R, E—-REX
H SR A TR R RCE BT T R RIB 5% 2o, EARDURI b ) i 5 B AR RLAR
BT, BEt, A AFERENC AR N B R e R A S AR Ao
Hatk, HAFEERRNDITH AR,
) R TR AR PR 2 (R o AR () R T A JLFF
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1) According to the author, the word “...” means

2) Which of the following is nearest in meaning to “...”?

3) The term “...” in paragraph. .. can be best replaced by . ..

4) What’s the meaning of “. .. " in line. . . of paragraph...?

5) As used in the line. . ., the word “...” refers to )
6) The phrase “...” in the ... sentence could best be replaced by ...
7) Inline ..., what does “. .. refer to?

8) The line ... that author uses the word “...” to indicate. . .

9) The term “...” in the ... paragraph can best be replaced by. ..
10) The word “..." in the ... sentence refers to . . .

11) Which of the following is closest in meaning to the phrase “...” (Para. ..,

Line...)?
12) The phrase “...” (Para. .., Line...) in the context means. . .
13) The word “...” most nearly means. ..

FIEVFR , %5 A Rz 2 1R K49 0 B 31 s il il (B B S B R B 53R
TGERAE W, RIS E AR, SEZRREEL XERHEE
A SR B E A TR A R A B R

FEAUE SRR B B ATAT LA RIS J7 AT MR BT 3

4. B 5 WA

F—RXEP AR EERAHE RSB RRE 'R S
¥, TIRBEETHATH . BB BRE EX RS BT UL HERT. 721
XAEAERD BT RES &M B ERE UM EEREER
—E MRS ERAEC LT ST A A ARG ERTH , T A R JFSC

BIERESR,
ISR S — M R B A A ARE R A E TSR & Rk h. BF
PALI TR .

1) The third sentence of Paragraph 1 implies that
2) From the last paragraph we can infer that .

3) This passage appears to be of _
4) The wrter implies but not directly states that __




(BRIZAR)

5) Tt can be inferred from the passage that
6) The author strongly suggests that

7) It can be concluded from the passage that

8) The passage is intended to

9) The writer indicates that

10) The fact. .. is mentioned by the author to show

11) The author achieves his purpose by depending mainly upon

12) The writer talks about ... inorderto
13) In discussing. . . , the author
14) The author’s statement about ... isa ... for..

M ERBEEILIE L, ﬁﬁ?’&ﬁrﬁ%ﬁ@?ﬁlﬁﬁﬂ infer, imply, suggest,
conclude 1 assume X ¥ #35],

AR T YA - O RR RSO A S B, T A4 R B 58
QF MR SCHEWT H R 5538 , (B LB B 5 E AR O % R R IE
Bk , (B BEM SR SCHE BT i R ; O4E/R IR

R [ B SR 5 A R IE R PR X RR IR S S AT T, B
R A R REILBAE , R — 85, B R BB 1 A
BRI RS W, XRFEHE B —TEH, HRERESAT
HEEEAREL, R X ERGAA AR, EEERNERERER X ATE
BRTFEE L, EBR —ERERHIBEEN R EELTT AR, AR R #
HEHRES X, XEMEE MR K ERE K, R Z , R G RE Xt
XENFERA MBI EEAIERMER,

5. FESEHANE

EEMNS SEBUENBRES ZHHNAR, ST EHIZBESEK
SEARMSE G REIZENN - EEHE. MEE KBRS E
b, DREEESE ERBT EHME RN ERHLE, FisMEFE. MR
i 7= (il O
1) The author’s attitude towards something is ____

2) The passage shows that the author is ______ (of, about) the present situa-

tion.
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3) What's the writer’s attitude 0. .. ?
4) What’s the tone of the passage?
5) The author’s view is ___
TEHWEE WA SER, ?‘Zﬂ] EEUTIJLAREE:

EER BT, iﬂ?ﬁ%ﬁfzﬁﬁeﬂi THRRA. Bk, %
ERHAFEE S SURA, L% E T XBREXE. EREEXEFHR
BRI RR TEERS, BT R —BXF:

Professor Baker s publisher has stated that this new book will soon take the
place of all the old standard works in this field; in view, however, of both the
style and content of Professor Baker’s book, 1 find this claim most difficult to
accept.

YEEERTET A T RE B Z 8, MREERAMELIEZ L,
VLA R R E SR,

WeAb Ve E Rl DU 68 R RO A F B 7 | S0 R R— Rk ]
BB ERMM S . S0, AT Fr BT 40 BB 3 BT AR C A, 29
BEENSERERERRM, EEEAXREE, 5 M E %0 —
SR 37
(1)%& %Li8): positive, wonder, support, useful, interesting, enthusiasm, ad-
miring % ;

(2)#4%18) : indifferent, impassive, uninterested, neutral, humor, disinterest-
ed, objective, analytical %;
(3) 0z 8Li8]: hateful, careless, contradictory, critical, negative, disappointment

s ik £ A

B 3 Dl

BREEERNNESEET A VT ERAFf. - REEEXER
BEGH—MEEARS BEXE. FARNEEAARMNEEIHR,BR
WK R T, BBYERR N T 887E 10 4y 8 213 ARt I N B e — A &
HEHEE,
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FRE M BB R K T ERER, T UL EZRNE _F
BB A —CE— R, BV 2 28 AR B[R] (] B B 155 T A B
BB, BERENEE S AN A ERXERNSGENEE,
& ARG 3 4340 A A i A TR S B M 8 2 S 0 (R R AR A R S &, B
FAXHBE AT A 58, T B35 R O v U 0 A 1S 5T T R 32 T A
HYEBA BRI BRER,

SE—# - BT A R

FBEXENER B MRS EERE R R B AR, X RERE R LU
B, A B EERE . FBINE BT LU R AL R
WK, ENTRREEEXENEAME S, B, 83 e E, #7350
X XEAREANNER T —ENTN , EREXEN2H —EHRER.
PR AE SR XRBREFEERBRICHERNEHKE. RAICERE
HXBENEA SRR, BRI RNE,

FEHSE=F HERXE, AFRREHER

EEE , ROMERE T S EAR L ERE, AR LR & TR
5 fECE P EE A, R IS B S MBNERT . AR, IR
RS R, R U — R R R A R BRI
T, XERHEE NS S8, A EaE TR RS LS8 4.7
ERAERIEAEHIMETEN SR, ERESKREBECER, BELAH
Rk MAEENEATE ., KRR R E A 7R — R et
PR B Rk A0 BN £ B AR A E R, BT b et el 4 7 LLRE X H A RE Bl gY
[y —— B,

HETH—RXEREE:

Questions (D ~@are based on the following passage:

For any Englishman, there can never be any discussion as to who is the
world’s greatest poet and greatest dramatist. Only one name can possibly sug-
gest itself to him: that of William Shakespeare. Every Englishman has some
knowledge, however slight, of the work of our greatest writer. All of us use
words, phrases and quotations from Shakespeare’ writings that have become

part of the common property of English-speaking people. Most of the time we

are probably unaware of the source of the words we use, rather like the old lady
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